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Sub: DIGITAL COMMUNICATIONS Code: 21ECS51
Date: | 15/03 /2024 Duration: (90 mins Max Marks: |50 Sem: |V Branch: ECE
Answer any 5 full questions
Marks|CO | RBT
1 [a) Withablock diagram of QPSK Transmitter and Receiver, explain generation and [10] [COl1| L2
demodulation of a QPSK signal. (6M)
b) Draw the QPSK wave form showing in phase and quadrature components for the
sequence 01101000. (4M)
2 | Explain the matched filter receiver with the relevant mathematical theory. [10] |CO2[ L2
3 a) Explain the design of band limited signals with controlled ISI .Describe the time [10] [CO2| L2
domain and frequency domain characteristics of a duo binary signal. (6M)
b) Write short notes on eye diagram (4M)




With a neat block diagram explain the concept of frequency hopping spread spectrum [10] [CO3l L2
a) Explain the Nyquist criterion for distortion less base band transmission and obtain [10] |CO2y L3
the ideal solution for zero ISI  (5M)
b) The binary sequence 111010010001101 is the input to Pre coder whose output is
used to modulate a Duo Binary transmitting filter. Determine the Pre coded
sequence, transmitted sequence, received sequence and decoded sequence.(5M)
With a neat block diagram explain the concept of CDMA system based on 1S95 [10] [CO3l L2
a) Explain the generation and detection of DPSK with a neat block diagram  (6M) [10] |CO1f L2
b) Describe briefly M ary QAM. Obtain the constellation of QAM for M=4 and draw
the signal space diagram (4M)
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4.refer notes for 4,5,6 and 7 questions



